
EAN: 7350073737826 7350073737833 7350073737840

M Wallmount Pro MBWW1U/2U/3U Fixed







4

Dimensions & Parts list

42
6

82.5

17
7

1250mm

1250(Min)~1440(Max) mm

M5X15 M6X15 M8X15 6X   6.2X1.5

X4 X4 X4

X2 X1 X1 X2

A1

D1 D2 D3 D4

A2 A3 A4

X4

X1

X4 X4 X4

C1 C2 C3

X2

6X   8.2X1.5

6X   8.2X1.5

M8X12 5mmM8

1250mm

X8X8 X1

B1 B2 B3 B4 B6

X8

X1
X1

M5

2000mm

2000(Min)~2190(Max) mm

42
6

82.5

17
7

M5X15 M6X15 M8X15 6X   6.2X1.5

X4 X4 X4

A1 A2 A3 A4

X4

X2
6X   8.2X1.5M8X12 3/5mmM8

X8X8 X1(Each)

B1 B2 B3 B4 B6

X8

X1
X1

M Wallmount Pro MBWW1U Fixed

M Wallmount Pro MBWW2U Fixed

Lag bolt Anchor

X2 X2 X1 X4
X4

D1 D2 D3 D4 D5X4 X4 X4

C1 C2 C3

X2
6X   8.2X1.5

1000mm M5
Lag bolt Anchor



5

Required Tools

Hammer Stud Finder Level Drill 9/16” Masonry Bit 1/4” Wood BitPencilSocket set Phillips Screwdriver

Installation

1 2

3000mm

3000(Min)~3190(Max) mm

42
6

82.5

17
7

M5X15 M6X15 M8X15 6X   6.2X1.5

X4 X4 X4

A1 A2 A3 A4

X4

X3

X4 X4 X4

C1 C2 C3

X2

6X   8.2X1.5

6X   8.2X1.5

M8X12 3/5mmM8

X8X8 X1(Each)

B1 B2 B3 B4 B6

X8

X1
X1

M Wallmount Pro MBWW3U Fixed

Lag bolt Anchor

X2 X3 X1 X6
X8

D1 D2 D3 D4 D5

1000mm M5

B3
D5



6

3 4

5 5

5 6

-a

-c

-b

3mm 3mm

D3

D5

B3

1000mm
1000mm

1000mm
1000mm

M Wallmount Pro MBWW1U Fixed M Wallmount Pro MBWW2U Fixed

M Wallmount Pro MBWW3U Fixed

D10



7

7

B1
B2

3mm

9
Wood

C1C2

Sliding

8

C1C2C3

Brick or 
concrete

Sliding



8

10

12

13

11

A1/A2/A3
A4

  5 mm

10mm Height adjustment

Wire


